Algebra Graded Assignment Name

1. Determine if the following tables represent a function relationship. If so, determine if
it’s a linear relationship by calculating the rate of change or slope, y-intercept and

equation.
x oy
2 4
5) 25
8 64
11 121
2. Match the graph or equation to the correct description.
Linear Function Quadr?tlc Absolute .Value Expone.ntlal Not a Funtion
Function Function Function

3x y+6=2°




3. Find the slope and y-intercept of each equation.

y=——%x+5 g(x)=—8x+34 2y=2x-6 Ty-2x=35

4. Find the Slope of the line on the graph.

o
A
D 4
A

5. Calculate the slope of a line given two points and circle the type of linear graph the
slope would produce.

(1,2)and (3,4) (-8,2)and (4, -6)
Uphill Downhill Uphill Downbhill
Horizontal Vertical Horizontal Vertical

(17,-13) and (17, 9) (19, -2)and (-11, 10)
Uphill Downhill Uphill Downhill

Horizontal Vertical Horizontal Vertical

I 4



6. Graph the following equations

4 Circle the Coordinates that are on the line.

2
=—x+3
Y73

(-3,1) (2,5) (-5,-§)

Show that ONE works algebraically

«* >

4y-8x=24 '

What is the coordinate of the x-intercept?

- >

Is the point (-4, 6) on the line? Justify your
answer

7. Determine the linear equation for each of the following graphs.

Helicopter's Altitude

2 y 7 5
£ 600 B
= e By
< A
S 400 2.8 5
= 200 -
- < < 2.5
& O =
e

0 1 2 3 4 5 6 7

Time (minutes)

0 12345
Hours of Driving




8. Find or Graph the Equations of each Line

'\ 4 4y { M

v
[
v
&
v

9. What is the y - intercept of the line y +3=4(x+3)?

10.1s the point ( 4, 11 ) on the line of the equation y—-5= 2(x—-1)?

11.Write the equation in slope-intercept form ( y =mx+b ) of a line that passes through the point
(-3, -5) and has the same slope as y+2="7(x+3).



. . . . 2 .
12. Write the equation of a line with a slope of -3 and that passes through the point ( -6, 7 ).
'y

13. Write the equation of the line in the graph below in point-slope form and slope-intercept
form.

4y

X

14. Find the equation of the line that passes through ( 5, 4 ) and ( -5, 0) in slope-intercept form.

)




15. Find the equation of the line that passes through (2, 5) and ( -1, -4 ) in point-slope form.
'y

16. Determine if the point ( 25, -2 ) is on the line that passes through ( 10, -8 ) and ( 5, -10)
'y

17. Graph and write the equation of a line that is parallel to the line graphed below.
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1. Determine if the following tables represent a function relationship. If so, determine if
it’s a linear relationship by calculating the rate of change or slope, y-intercept and

equation.
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2. Match the graph or equation to the correct description. fcte of C["ltrse AX

Quadratic Absolute Value Exponential

i : " Not i
Function Function Function a Funtion

Linear Function

'

3x y+6=2" E x ponenti<!

y= —Linear

4
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3. Find the slope and y-intercept of each equation

1

y==—x+3 g(,t)=—8x+34 2 2‘2__}:—_@ 1y-2x=35
4 ‘ Z tex Hlx "~
"y m= -3 s Ty=2s435
-1 T ?
N-int: (o, S) Y-ink: (0,34) ) 7
Y

4. Find the Slope of the line on the graph.

AV

A

Lo :
5 | G
- — Wa Tem= i S
2 3 ™ 7 - ks
5. Calculate the slope of a line given two points and circle the type of linear graph the
slope Would produce.
X ¢ YJ XI. Yl
(12)and 3 ) (-8,2)and (4, -6
=8 .2 . b=l | %
5 -1 oz | Iz

.
Yy-¢-8) 1z~ 3

Uphill Downhill Uphill
Horizontal i

Vertical Horizontal Vertical

x! Vl XL y: Xl Yr )’2
(17,-13) and (17, 9)

(19,-2)and (-11, 10)

q-(-13) 29 10 —(-2) 12 __ 2
- -a — :—-—. — T e
1 7- 17 O Sl =M= o S

Uphill Downbhill

Uphill @) kS
Horizontal ‘ Horizontal 1

Vertical



6. Graph the following equations
2 4

y=—x+3
3

S

> Circle the Coordinates that are on the line.

[ 3

(%

_ Show that ONE works algebraically

= 2(-5)=
2(s)+ 3

b
3
-1 - -1, 9
3 e 3
""-L':_‘J-‘/
3 3

What is the coordinate of the x-intercept?

(4,0)

v

Is the point (-4, 6) on the line? Justify your

answer Ll((.)— 8(-q) : zq

24+ 32 =24

SYy7 2y No!

7. Determine the linear equation for each of the following graphs.

Helicopter's Altitude

Feet Above Ground

-

0 | 2 3 4 3 6 7
Time (minutes)

oo _
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Hours of Driving

\! 2725 % »8.75




8. Find or Graph the Equations of each Line

4y 4 Ay Ay

[ )

v

»
v

>
A

9. What is the y - intercept of the line y+3=4(x+3)? ( ®) ; >

Y&3 :Ll(o+3)

t+3= 12
Yr3= 12
729

10.1s the point (4, 11 ) on the line of the equation y-5= 2(x—1)?

W=-5=2(4-1)
L2 E(5) Yes
(sé(o v

11.Write the equation in slope-intercept form ( y =mx+b ) of a line that passes through the point

(-3, -5) and has the same slope as y+2=7(x+3).
' N vz 7

Nz mxt b

~S=72(-3)*b
'”SL‘—ZI»LL, H:.?X""(o]
2] +2)

Il =}




2 .
12. Write the equation of a line with a slope of —~§ and that passes through the point ( -6, 7 ).
4

v

113060

\/-7-'-"-32-A"‘Jr
1 r

E 3

13. Write the equation of the line in the graph below in point-slope form and slope-intercept

orTn. Ay m::!_z:--*i j ;_n.f
i a3 | 175773(¢)
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N 1 3 3
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14. Find the equation of the line that passes through ( 5, 4 ) and ( -5, 0) in slope-intercept form.
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‘{-—\],‘:m(x-x,)

15. Find the equation of the line that passes through ( 2, 5) and ( -1, -4 ) in point-slope form

"'",S ...ﬁ‘ 4

tle -1-2

v

\N-§= 5(x z)J :

BEEEaDY |

16. Determine if the point ( 25, -2 ) is on the line that passes through ( 10, -8 ) and (

5,-10)

SEstek) . & . 2 ;

™M = E
S —to - ' b

\ tlo = -Sz-(x-s)

v

(25, -2) ;
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= g s | ine

17. Graph and write the equation of a line that is parallel to the line graphed below.
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